&RIE

3,
1

R R AR Sk

E

#f524°- DIN 2353

A& BEINE LT “#=
(#F) &5 d2 bN A O Lm LF EE L4 mEESL ORI
ATFAHE
L 8 6 M14x1.5 22 585 76 1175 25 4VI3E6X2 4V53E6X2
. L 10 8 M16x1.5 22 595 77 1195 26 4V13E6X3 4V53E6X3
3/8 S 10 6 M18x15 24 715 89 143 27 4VI3E7X3 4V53E7X3
S 12 8 M20x1.5 24 605 78 121 27 4VI3E7X4 4V53E7X4
L 8 6 M14x1.5 27 625 83 1235 26 4V14E6X2 4V54E6X2
L 10 8 M16x1.5 27 625 83 1235 26 4V14E6X3 4V54E6X3
L 12 10 M18x15 27 745 95 1475 38 4V14E6X4 4V54E6X4
L 15 12 M22x15 27 75 955 1485 38 4V14E6X5 4V54E6X5
1/2" L 18 15 M26x1.5 30 655 86 1295 27 4V14E6X6 4V54E6X6
S 10 7 M18x15 30 655 86 1295 27 4V14E7X3 4V54E7X3
S 12 8 M20x1.5 27 325 87 975 27 4V14E7X4 4V54ET7X4
S 14 10 M22x15 30 67.5 88 133.5 27 4V14E7X5 4V54E7X5
16 12 M24x15 27 675 85 1275 29 A4V14E7X6 4V54E7X6
BFERRRE
1/2" 1325 8 M20x1.5 30 725 93 1635 34 4V14L7X2 4V54L7X2
O-Lok-SAE J1453 (ISO 8434-3)
A% LT o=
% (xF) DN A O wm F #E L4 mEX BEX
U || 1/2" 8 13/16-16UNF 27 493 69.8 97.2 128 4V14S5X3 4V54S5X3

B-78




